
CHAIR

F13B121 

DO THIS TWO TIMES

Page 1 of 3

Leg

Rotary Plate

Footrest

Screw 6PCS

Left Arm Rest 1PC

Right Arm Rest 1PC

1PCSeat Back

1PCSeat Base

4PCS

1PC

1PC

Screw 6PCS

A

B

C

D

E

F

G

H

J Screw

K Screw

8PCS

4PCS

I

WasherL 36PCS

M Nut 12pcs

N Allen Key 1PC

O Hex Wrench 1PC

P Cushion 1PC

 Q Lumbar Pillow 1PC

Attach right arm rest (B) to seat back (C) using M6*28 screw (I) 
and washer (L) as shown.
Attach left arm rest (A) to seat back (C) using M6*28 scrwe (I)
and washer (L) as shown.



CHAIR

F13B121

DO THIS TWO TIMES

Page 2 of 3

Attach right arm rest (B) to seat base (D) using M6*15 
screw (H) and washer (L) as shown. 
Attach left arm rest (A) to seat base (D) using M6*15
screw (H) and washer(L) as shown.
Attach seat base (D) to seat back (C) using M6*15 
screw(H) and washer(L) as shown.

F

Attach rotary plate (F) to seat base (D) usisng M6*32 screw (J)
and washer (L) and nut(M) as shown.



  

 

  

  

 

  

  

 

  

Page 3/3

F13B121
CHAIR
DO THIS TWO TIMES

      

      

      

                                                                                                                                                        

                                                                                                                            

                                                                                                                                                                

C. RETAIN ALLEN WRENCH  FOR USE TO TIGHTEN 

Page 3 of 3

E

G

Attach leg(E) to footrest(G) using M6*35
srew(K) and washer (L) as shown.

Attach leg (E) to rotary plate (F) using M6*32 
screw(J) and washer (L) and nut (M) as shown.

Tighted all screw and put the chair up right down. 
Put cushion(P) and lumbar pillow (Q).
Enjoy your chair!

P

Q


